[Option ID = 2814]
3. Statement | is true but Statement Il is false.

el | 3 &, fopog et || stea 2 |

[Option ID = 2815]
4. Statement | is false but Statement Il is true.

el | 3RIc &, fpog et || ad &
[Option ID = 2816]

Topic:- 062_UGCNET_SEPT22_S2_PartC

1) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine's
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forgsifeiRae srerior ool ufeu sz 3ol AHdfra yesil @ 3az difse ©

JUR 3 AP Dl HARICH DI JUIadl Ud PRSIER A YRIPR @I a5sdd d 3idid fepu Siiol dI alvvn & 318 JLUR D YU IR Yuidr, Aol
e (1483 - 1546) o1, 3nzen - Siod 3l @ Rigia o sgyail¥a fioen @ o1 adoifers  epiondl ofl & afka Kdfda (1484 -

1531) sit o5 RasRds & vas JarRard! odr 9, a6 frar! & SRR dfeel adf A 3iffrd RMud wU 3 3cET 3l 318 Joslal B sro fScmior
MifoRersd & wRIol D Rigia ol yorsiifad fisen  Sifer ifeast (1509-1564) of Qiccalfiedl @ g dad b3, erfong &i afframigut
razen foifdfa &t off Iad fere siforersa & a1 3 $waz splaR AMNIBE a1 ff ad D seIrRI asad 3 Sfealaa afla sTaT1 1 iftsa Bt
3 d Aq sifeR<Isol @ Ad A A ofdl A

The first protagonist of the Reformation was this religious leader:
HUR D YA HTRI Yuidl Soldl A & ofar & -

[Question ID = 705][Question Description = 196_83_CSR_SEP22_S54_Q96]
1. St. Thomas Aquinas

3l elfsrt uferaoifar

[Option ID = 2817]
2. St. Bernard

e goils

[Option ID = 2818]
3. Martin Luther King

el cfer fpet

[Option ID = 2819]
4. Martin Luther

#fdol cjerR
[Option ID = 2820]

2) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine's
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forgotferRae sterior ol ufeu siiz IorRY Adfra gooil @ o= i :



JUR A Afep &l iR DI SuTadr vd BRSIER A YR @1 asad 3 siafea fpu siet & diuon & 5 JarR & yord I3 gulal,  arféel
Gz (1483 - 1546) a1, sirzen - siort AR & Rigia o agyaifa Roar A o1 adoilRie ewfoed) ol & safka Rl (1484 -

1531) st fop Rasiéls @ v JerRard! odr 9, a6 ARl @ SRR Aftel ol A Siffrd RIMu® U 3 31eEI 8l 318 oslel Bl 36w zfSemivr
MWiPRTEd & wRiel D Rigia o yesiifaa feenr  sifor wifeast (1509-1564) of greycarfel ol gg dad sab?, erfonzq &l aiferaigot
razen foifdfa &bl ol 3o fere siforersal @ aia I $9ar PR AR a1 off o<t D goIRT Az 3 IfeciRaa iy sTaT1 @I Sif¥isia mel
3 d i siferersel @ #Ad A AsHA oISl A

Luther made much of this doctrine of:
IR of 3 Rigia ol sgyanfea fop=r e :
[Question ID = 706][Question Description = 197_83_CSR_SEP22_54_Q97]
1. Transubstantiation
[edirericanyg
[Option ID = 2821]
2. Creation of Adam

usd &I gfte

[Option ID = 2822]
3. Faith in the deed

ot 3 fearar

[Option ID = 2823]
4. Justification by faith

I - Sfoel Sfifereer

[Option ID = 2824]

3) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine’s
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forFaiferRac srerior Y ufeu 3z I Al yeoil & 3R difdme ©

JaR A AR & sicRIcHr DI IYuIadr vd BRSIER A YR @I arsdd ¥ sidald fopu sirel &I divon &l o1 JerR @ yerd P31 yuldr,  afést
cJerR (1483 - 1546) o, 3mzen - S ifaca @ Rigia o sgyaila feen @ o1 adoifcrr epfomd) odl & safvea fdfda (1484 -

1531) sii fop RasRels @ gas JRard! odr 9, a8 ARl @ seIR dfesr Tl A siffrd =Imud U 3 31e1sl 8l 318 3oslol [l 3o fSemlvr
RAatfsTcrsel S aerel D Prgia B yorstiid Roen  sifer wifeast (1509-1564) of grRecariedl @ gg wad 3a3, eefonz St waifRigof
raza foifdfa &f off 3o feru sifeR<Isa @ A I 9= PIR ATdHITD Adr ol I D SoIR drsad d SfcaaRaa $adikn g1 @I AfEIa dol
3 q i sifeR<rIsel @ A A ASHA oIl A

The leader of reformation in Switzerland was this person:
Rasrds d gurardt oar a?

[Question ID = 707][Question Description = 198_83_CSR_SEP22_S4_Q98]
1. Martin Luther

ol cjeR

[Option ID = 2825]
2. John Calvin

Sifor ifedor

[Option ID = 2826]
3. Ulrich zwingli

Ieif¥xa fodoreft

[Option ID = 2827]
4. St. Augustine



Je siferzersat

[Option ID = 2828]

4) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine’s
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forgotferRac sterior o ufeu iz oY Adfra gosil @ ar e :

JUR 3 AR &I sicRIcHr I uTadr vd BRSIFER A YfroR @I arsdd ¥ sidafa fopu siel &I diuon & 51 JeR @ gy 331 gular,  aféet
cJerR (1483 - 1546) ol, 3nzen - Siod i @ Rigia o sgyail¥a e A o1 adoiferr epfondl ofl & safva fdfda (1484 -

1531) sit o5 RasiRdls & v JaRard! adr 9, a6 ARt & SRR Afes adf A 3ifrd RMMud FU 3 HcET 3l 318 Ioslal B sfo fScdpivr
A3ifoRTISal B RIal D Rigia ol Yorsitiad fsen  Sifet wifeast (1509-1564) o Qieecaiiel @t g dad Soz, eeiom &I aiféraigut
wraen foifdfa & off o feru siforersal @ oI i $ear PlaR Al rar off ad & somrr asaa 3 fealaa $adia sTar @I sifdsa bt
3 d A sifeReIse @ Ad A ABH odl A

This reformer, according to the author, formed the most complete system of theology, giving to protestantism its fighting
armour. ldentify the reformer

CRA® D 3R BRI JURD of YleIde daIicll Dl gy Dad Yglel B LRI Dl Adifere Ayui carazen oI fofdia foven e, 331 Jare @I
ugafory :

[Question ID = 708][Question Description = 199_83_CSR_SEP22_S4_Q99]
1. St. Aquines

3Jic uftraeiia

[Option ID = 2829]
2. Martin Luther

Ffol cjer

[Option ID = 2830]
3. John Calvin

Sifor a@ifedot

[Option ID = 2831]
4. St. Peter

e ez

[Option ID = 2832]

5) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine's
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forsotferRac sterior o ufey 3iiz o1 Hdfera yesil @ sa= e :

JUR I =Afp Dl RIH DI VTGl Ud PRSIFER A YRIPR @l a1sdd d 3idfed fopu Siiol &I aivvn & 318 JLUR D g TR Yuidr, Aol
cJerR (1483 - 1546) o, s - sioa siifkica & Rigia o1 agyanf¥a fieen d o1 wdwifers eiondl oiéf & Iafa fdfder (1484 -
1531) Sl &b Rasrds @ v FURAIS! oidr ¥, 98 ARl @ 3IeRIR cfcs a[l 3 3frd RATUD WU I 3T 8l 38 Ioalol fep=Al sfea zfdcmiur



AieRerIsa & wRIsl B Rigia ol Yorsilfad fisan  sifer wsifeast (1509-1564) o greecaifeil ot gg daa o3, epfonz & Aaifirmigut
razen foifdfa & eff Sord RR1u sifercrsal @ oI A $ear sENar AN J4ar off od & aoIRT asad A sfealRaa $eafr scoT1 @) UfdsTa oo
3 q Aq siferRersel @ AA A J3A o3l q

This protestant reformer revived Augustine's doctrine of election
33 Yl JURD ol HivRersel d wol @ Rigia ol yetsilfad fovar e

[Question ID = 709][Question Description = 200_83_CSR_SEP22_S4_Q100]
1. Martin Luther King

T cpere a1

[Option ID = 2833]
2. John Celvin

Sifel apifedor

[Option ID = 2834]
3. Martin Luther

ol cjeR

[Option ID = 2835]
4. Ulrich Zwingli

Ieif¥xa fFasreft

[Option ID = 2836]

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartA

1) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year p Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forgotferRaa aiferat ad 2014 21 2020 awm @ A1 auf 3 diol 91821 P, Q 3k R I Storizn (cira 3) corfell 8 321 aiferdr @ snemR R
JFEfeia uia gesit @ Iar Sifse

91531 &bl ad-ar SierRizRT

o 9182 bl SToRIR=A (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100




What is the approximate average population of City-P for all the given years?

it fu s1u aulf & forg 9183 - P @51 cre1sia1 3iiad STolddzc oIl & ?

[Question ID = 10860][Question Description = 101_00_GP4_SEP22_S2_QO01]
1. 65 Lakhs
65 cma

[Option ID = 13437]
2. 59 Lakhs
59 ara

[Option ID = 13438]
3. 52 Lakhs
52 era

[Option ID = 13439]
4. 54 Lakhs
54 era

[Option ID = 13440]

2) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year p Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forgotferRaa aiferat ad 2014 21 2020 awm @ A1 auf 3 ot 91821 P, Q 3k R I Storiz=n (cira ) gorfedl 8 31 aiferor o e R
gt uid gesit @ IR Sifse

91531 bl ad-ar SlerRizRT

o 9183 bl SToRIR=A  (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the ratio of the total population of City-P for the years 2014, 2015 and 2016 together to the total population of City-R for
the years 2018, 2019 and 2020 together?

adf 2018, 2019 siiz 2020 @1 RBrelrd? 9182~ R oY aget Soriz=n @ gl ad 2014, 2015 3iiz 2016 @ fére 9182~ P &1 @el SolRIzRI 1 3ioluld a=il 3 ?

[Question ID = 10861][Question Description = 102_00_GP4_SEP22_S2_Q02]
1. 31: 54 [Option ID = 13441]
2. 29 : 53 [Option ID = 13442]
3. 27 : 53 [Option ID = 13443]
4. 29 : 54 [Option ID = 13444]



3) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forgotferRaa aiferat ad 2014 21 2020 awm @ A1 adf 4 ol 91821 P, Q 3k R I Storiz=n (cira 3) corfedl 8 31 aiferor @ e R
gt uid gesit @ Iar SifSre

91531 &bl ad-ar SlerRizRT

o 9182 bl SToRIReA (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the percentage rise in population of City-R from the year 2016 to 20177

adf 2016 51 detetr 3 2017 3 9183 R o1 Sterzizean & g gferera a=m 8 ?

[Question ID = 10862][Question Description = 103_00_GP4_SEP22_S2_QO03]
1. 8.34 % [Option ID = 13445]

2. 10.00 % [Option ID = 13446]

3. 16.67 % [Option ID = 13447]

4. 21.45 % [Option ID = 13448]

4) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Year Population of City (in Lakhs)
P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100




forrarferRaa anfermr ad 2014 1 2020 awm @ Ard adf 3 il 90 P, Q 3k R &l Slorizn (ara #) sorfdl 3 31 anfért @ sneR uz
et uid gesil @ IR S

91531 b ad-ar SrerRizRn

o 9182 bl SRR (e 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the difference in the total population of City-R and the total population of City-Q for all seven years?

19l 21 auf @ o 9162~ R 51 @ SiolRiz 3R 9163 Q 1 el SIoRIRR I 3R =11 8 ?

[Question ID = 10863][Question Description = 104_00_GP4_SEP22_S2_Q04]
1. 130 Lakhs
130 ama

[Option ID = 13449]
2. 80 Lakhs
80 ema

[Option ID = 13450]
3. 110 Lakhs
110 ea

[Option ID = 13451]
4. 85 Lakhs
85 cma

[Option ID = 13452]

5) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Year Population of City (in Lakhs)
P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forrarferRaa anferet ad 2014 1 2020 aw @ Ard adf 3 it 920 P, Q 3R R &l slorizn (ara #) corfdt 3 531 anféret & sneR uz
et uia gesit @ IR SifSe

9153 bl ad-ar SierRizRT

o 9182 bl SToRIReAT (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60




2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

For which city and in which year, the percent rise in population from the previous year was the highest?

fop1 9182 3il= o=t ad 3 SeRizen 3 gfiy (yfdrera) fireel ad &1 qeton 3 raifire oft ?

[Question ID = 10864][Question Description = 105_00_GP4_SEP22_S2_QO05]
1. City-Q and year - 2016
9i83-Q 3z ad-2016

[Option ID = 13453]
2. City-P and year - 2018
9B3-P 3ie af-2018

[Option ID = 13454]
3. City-R and year - 2016
oz3-R 3I? adf-2016

[Option ID = 13455]
4. City-P and year - 2020
9B2-P 3ie af-2020

[Option ID = 13456]

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartB

1) Which of the following phrases best describes blended learning?

forgaiferi¥aa 31 21 wlar arariior B31fd)a fren @1 Ad9eo quier dear s ?

[Question ID = 10865][Question Description = 106_00_GP4_SEP22_S2_QO06]
1. It involves two teachers teaching the class
S G 3[EATID] GRI D&l 3 {9181 Soir onfdret 3

[Option ID = 13457]
2. It involves online interactions only through LMS
39 Dact LMS @ are=iat 3 sifoletisol sioeilor fopRm onfdiet &

[Option ID = 13458]
3. It combines elements of face-to-face and online / ICT tools for teaching-learning
g {O18IvT-31feemT @ fore WA ¢ WA 3iiR sifoletsel /31S A & ¢e @ Acdl @l [reter 8

[Option ID = 13459]
4. It involves older students teaching younger students through a mentoring approach
S R0l BIGI GRI ampll zfiedlul D gRI 6w BIG DI UGell onfdeT 3

[Option ID = 13460]

2) For effective integration of ICT in teaching-learning, the following should be used for providing online content,
assessments, and for seamless virtual interaction of teachers with learners.

forgror - sif2era 3 3 Mt & @ yYaurdl didar D fer, foaifeiRaa o1 IuRNeT sifoletsol farer - AR il Sol A el Yraddl & AT eAUD Bl forafer
3iceiioRafapen @ fere fopa siren afde

[Question ID = 10866][Question Description = 107_00_GP4_SEP22_S2_Q07]
1. WhatsApp
TBICAR
[Option ID = 13461]
2. Content Management System
faweT- Al gdtror Ugher
[Option ID = 13462]
3. Learning Management System
3ifeere yderol Ugfer
[Option ID = 13463]



4. Facebook

BAYD
[Option ID = 13464]

3) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Open Educational Resources (OERs) are available for free.

Reason R: The basic philosophy behind OERs is to provide freely accessible, openly licensed text and media to all, that are
useful for teaching and learning.

In light of the above statements, choose the most appropriate answer from the options given below

ofi< 31 perel fRu e 3 1 uas bl sifdrperet (A) 3R g @ BRI (R) a1 sRI &
sifSrperet (A) : I ifdre Fiznerst (OERS) for:91ca Suctetr 3

@Rl (R) : OERs @& Wi ey Rrgia 1sft o) for:9lcas 7u A IO, Fel Al UR s YT UIRRIEES 3iiR 3T Suetser 1ot 3 it 9181 sz
siftrera @ ferg IuRiet 3

IWRfTh Berell B el 3 foratifdsa faraseal 3 A A8l Ia= got
[Question ID = 10867][Question Description = 108_00_GP4_SEP22_S2_Q08]

1. Both A and R are correct and R is the correct explanation of A
(A) 3iz (R) cleil 21t & 3l (R), (A) &I 18l carcen &

[Option ID = 13465]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) 3iz (R) Gl 21t 8 weog (R), (A) &t 1t =me=n ot 8

[Option ID = 13466]
3. Ais correct but R is not correct
(A) & 8 weog (R) it ordi @

[Option ID = 13467]
4. Ais not correct but R is correct
(A) & ol 3 weog (R) 28 3

[Option ID = 13468]

4) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: MOOCs are learner-centric courses.
Reason R: MOOCs can only be accessed by a learner in the presence of his/her teacher.

In light of the above statements, choose the most appropriate answer from the options given below

il SY perel fRu e 3 1 uas bl sifdrperet (A) 3R g @1 BRI (R) @a1 sRN &

sifSreret (A) : MOOCs siret grearadl @i argadt &

@Rl (R) : MOOCs fip=fl stror yrawsdl $IRT 3iael siemuds o1 suf¥erfer 3 3 sifiere=r a1 wrmar 3
IuRfeb Weroit @ areila 3 Petiftoa fiweal 3 3 3718t 3az ot :

[Question ID = 10868][Question Description = 109_00_GP4_SEP22_S2_Q09]

1. Both A and R are correct and R is the correct explanation of A
(A) aiiz (R) Sieil 21t 2 3l (R), (A) & 3 wareen 3

[Option ID = 13469]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) aliz (R) el 21 & w2og (R), (A) b 3 creen ot 8

[Option ID = 13470]
3. Ais correct but R is not correct
(A) & 8 weoq (R) 21t ordt

[Option ID = 13471]
4. Ais not correct but R is correct
(A) &t o6t 8 wdog (R) &1 2

[Option ID = 13472]

5) By which of the following means can a teacher establish a good rapport with his/her students?



forgotferR3aa 3t A1 P31 ATeraT A EATUD UG BIGI A ICHT AHeel FMUA B2 ADdI & ?

[Question ID = 10869][Question Description = 110_00_GP4_SEP22_S2_Q10]
1. Showing authority in class
o8il A QDR fGaarm

[Option ID = 13473]
2. Impressing students by his/her knowledge and skill
3ol SI6l 3iR PBIoleT GRI BIG) DI Yarfd a2

[Option ID = 13474]

3. Playing the role of a guide/facilitator with a desire to help them
BIGl D 3G Dol DI 5ol A v ARl / Jowradl &t sfdrar formas
[Option ID = 13475]

4. Becoming a friend to the students
Bl DI S Folb2

[Option ID = 13476]

6) Which one of the following is not used for checking plagiarism?

forgarfeiRae 3 2 fopre1 SuRleT Affea® A3l Adbol B fore o8l o= sirar & ?

[Question ID = 10870][Question Description = 111_00_GP4_SEP22_S2_Q11]
1. Turnitin
efaffeer

[Option ID = 13477]
2. Latex
CRTA

[Option ID = 13478]
3. iThenticate
ssdifedde

[Option ID = 13479]
4. Urkund
3D

=)

[Option ID = 13480]

7) Match List | with List Il

List | List Il

Ethical concepts in research

Characteristics

IA. Deontological

I. What makes people good

B. Teleological

1. Application of moral norms of society|

C. Relativist Theory

Ill. Balancing social norms

D. Theory of Virtue IV. Rule based
Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

aeht -l et -l

BiolRieIet 3 ofiferures sraemun Rrorercmd

IA. ofifer o<y |. SiI clIell DY 3BT Folldl &

B. 3Z9udcIad Il. TSI B SiferD ATGICST BT IuAPT
C. wmagrars Rrgia Ill. ST ATGIS] B Aqfera w2t
D. st Rrgiaa IV. forerar amrenfyer

it f3u a1e faaseul 3 2 8 3a= gfere :

[Question ID = 10871][Question Description = 112_00_GP4_SEP22_S2_Q12]
A-1,B-1l, C-1ll, D-IV[Option ID = 13481]
A-1l,B -1, C-1V,D-1[Option ID = 13482]
A-1ll,B-1V, C-1,D - Il [Option ID = 13483]
A-1V,B-1ll, C-1l,D-1[Option ID = 13484]

A W N -

8) Which of the following should be taken into account while preparing a questionnaire?

A. The purpose of research



B. Brevity of questions

C. Avoidance of leading questions

D. Questions that seek detailed information
E. Preference for double-barrelled questions

Choose the correct answer from the options given below:

forgotferRaa 3 A A Yeotrachl Fume w2 JerI et 3 a1 Siren Ay ?
A. 3IGI¥IGENGT DT 39

B. gesil &t fdraar

C. gz ygsil 37 seeln

D. grot frerdt forega e &t sieft 3

E. Ze gsoil @) siféraro=rar ol

il fou s1e fraseul 3 31 & Fa= goi ¢

[Question ID = 10872][Question Description = 113_00_GP4_SEP22_S2_Q13]
1. A, Band Conly

Dact A, B siiz C

[Option ID = 13485]
2. B, Cand D only

dact B, C 3z D

[Option ID = 13486]
3. C,DandEonly

@aa C, D siz E

[Option ID = 13487]
4. A, DandE only

et A, D sl E
[Option ID = 13488]

9) The quantitative research is based on

ATIHD 3oene b ur smenfya & ?

[Question ID = 10873][Question Description = 114_00_GP4_SEP22_S2_Q14]
1. Reductionism
sifeRIcfiasur

[Option ID = 13489]
2. Grounded theory
#ct Rrgia

[Option ID = 13490]
3. Field notes

&I ol

[Option ID = 13491]
4. Expansionism
fodararg

[Option ID = 13492]

10) When a research problem is related to heterogeneous population, the most suitable sampling method is:

[Question ID = 10874][Question Description = 115_00_GP4_SEP22_S2_Q15]



1. Cluster Sampling
deree? Yferariol

[Option ID = 13493]
2. Stratified Sampling
AR yferriol

[Option ID = 13494]
3. Convenient Sampling

JfAEISold yfereriol

[Option ID = 13495]
4. Lottery Method

cifest fafer

[Option ID = 13496]

11) One of the barriers to reception in communication is

JAdIc-38vI I TP ARIED 3 :

[Question ID = 10875][Question Description = 116_00_GP4_SEP22_S2_Q16]
1. Environmental stimulus
wRifauilr 3gtdet

[Option ID = 13497]
2. Open mindedness
foral & yfer getmdor

[Option ID = 13498]
3. Message brevity
3Jicer &t 2Afdrar

[Option ID = 13499]
4. Language orderliness
IRl afdraar

[Option ID = 13500]

12) Successful communication with students will promote which of the following factors?
A. Micro view of the world.

B. Social class struggle

C. Cognitive appreciation

D. Personality development

E. Cultural and aesthetic values

Choose the correct answer from the options given below:

Rrenf2fil & Arer Awer AeuvI HafeiRaa 3 A A PR® B Peafdd oar 3 ?
A. frrg Y g1 zfee

B. Arenfire aof e

C. JAsIIollcA® AMB6IT

D. wafeca iRt

E. Airafere 3R Al Ica

offax fow s1e frepeul 3t 2 A8t 372 9ol :

[Question ID = 10876][Question Description = 117_00_GP4_SEP22_S2_Q17]
1. A, BandConly
et A, B siiz C

[Option ID = 13501]
2. B, Cand D only
@dqct B, C 3k D

[Option ID = 13502]
3. C,DandE only



@aa C, D siz E

[Option ID = 13503]
4. A, Cand E only
dac A, C iR E

[Option ID = 13504]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Organisational communication flows downwards, upwards and horizontally within its network of inter-dependent
relations.

Reason R : Organisational communication is not necessary to achieve the organisation's objectives.

In light of the above statements, choose the correct answer from the options given below

il 51 werot Ru a1e 3 1 uas i sifdrperet (A) 3iiz g3 @I @Rl (R) a1 RN 3

aifdrperet (A) : FdTSelIcdd AFYUI 3icR-forsfz el @B 3rdol olcad @ Hiar ofla o1 3R, U= o1 3R qen Sifersiia adld A yare war 3
®RUI (R) : AsIoelIcAd® AFYUUI IHoTSol B cigzil il Yifft @ R siraead o1t 3rar 3

IWRfTD Dol B 3MIclid 3 oot fravcul 3 A A8l 3a= gol :

[Question ID = 10877][Question Description = 118_00_GP4_SEP22_S2_Q18]

1. Both A and R are true and R is the correct explanation of A
(A) 3z (R) glall 3 8 3 (R), (A) &t 3 careen 3

[Option ID = 13505]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 3z (R) <lell 3T & woq (R), (A) &t 38 e oidt &

[Option ID = 13506]
3. Ais true but R is false
(A) 31 8 w¥oq (R) 3R 8

[Option ID = 13507]
4. Ais false but R is true
(A) sricr 2 waog (R) A 8

[Option ID = 13508]

14) According to Roland Barthes, the sequence of narrative codes is:
A. Action

B. Symbolic

C. Semantic

D. Enigma

E. Referential

Choose the correct answer from the options given below

AT FATRA D IIGRIR ARRTGICHD Pl BT BA 3
A. oRarE

B. ydiwrcas

C. srel-fereras

D. =

E. icsfera

offar fow are frepeul 3t 2 73t 302 9ol :

[Question ID = 10878][Question Description = 119_00_GP4_SEP22_S2_Q19]
1. B, C, D, E, A [Option ID = 13509]
2. C, D, A, E, B [Option ID = 13510]
3. D, E, B, A, C[Option ID = 13511]
4. A, C, D, E, B [Option ID = 13512]

’

y & Yy



15) Match List | with List Il

List | List Il

Types of Communication Analysis Communication Factor|
IA. Control I. 'What' aspect

B. Content 1. 'Channel’ aspect

C. Media I1l. 'Reach’ aspect

D. Audience IV. 'Who' aspect

Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

ozt -1 ozt Il
RIFHUT & fI°SHUT B gbIR RIFYHUT B DPRD
A. foricor I. ‘o’ ey,

B. frerrarq Il. "Jotet’ usey,
C. afifden lll. g’ uaey
D. ojtar IV. '@ior’ use,

offa) fou a1e farasedl 3 2 A8 Ia= gfore :

[Question ID = 10879][Question Description = 120_00_GP4_SEP22_S2_Q20]
A-1lll,B-1V,C-1,D-Il[Option ID = 13513]
A-1V,B-1,C-1l,D-Ill [Option ID = 13514]
A-1l,B-1l,C-1V,D-1[Option ID = 13515]
A-1,B-1l,C-1l,D- IV [Option ID = 13516]

A W N -

16) Find the wrong number in the series given below:

3, 8,15, 24, 34, 48, 63,...

offax €1 o1$ gjaetn 3 s1era JoT aary
3,8, 15, 24, 34, 48, 63

[Question ID = 10880][Question Description = 121_00_GP4_SEP22_S2_Q21]
34 [Option ID = 13517]
48 [Option ID = 13518]
24 [Option ID = 13519]
63 [Option ID = 13520]

AN wnN -

17) What is the average of all the prime numbers between 30 and 507
30 3iiz 50 o5 a1e=r Asil TSI JieAT3il T 3iiaa a=in 8 ?

[Question ID = 10881][Question Description = 122_00_GP4_SEP22_S2_Q22]
38.8 [Option ID = 13521]
37.8 [Option ID = 13522]
39.8 [Option ID = 13523]
39.5 [Option ID = 13524]

A w N =

18) Eighteen years ago, a man was three times as old as his son. Now, the man is twice as old as his son. The sum of the

present ages of the man and his son is

18 o usd), v it sruol a¢ A ofiot ol &St a1 318fl, d 1Sl AT A Y oIl ST & AP 3iI= IAD AT &Y aclaHrol 3R BT AT S ?

[Question ID = 10882][Question Description = 123_00_GP4_SEP22_S2_Q23]
1. 72 [Option ID = 13525]
2. 100 [Option ID = 13526]
3. 105 [Option ID = 13527]
4. 108 [Option ID = 13528]

19) Two boys A and B start at the same time to ride from Delhi to Meerut, 60 km away. A travels 4 km an hour slower than B.
When B reaches Meerut, he immediately turns back, meeting A, 12 km from Meerut. What is the speed of A in km/hr?

A 3iiz B <l crsa uep 81 eI feoeht 21 60 fopafl o3 dvo @ féru A 9pe @2 & B o1 srign A 4 fpefl yfer wer efisn acrar 3 5@ B divs uga siar @ as gia

arftra ciledn 3 3iiz A6 A 12 fpdl b gl R A A RBrerar 3 A o1 aifer fepafi / eier 3 feperofl 3 ?

[Question ID = 10883][Question Description = 124_00_GP4_SEP22_S2_Q24]
1. 12 [Option ID = 13529]



2. 8 [Option ID = 13530]
3. 6 [Option ID = 13531]
4. 10 [Option ID = 13532]

20) A television manufacturer earns 20% profit by selling each T.V. set for Rs 14,400. If the production cost is increased by
15%, what should be the new selling price of a T.V. set so as to gain a profit of 15%?

uep ecfiferstet foratfar e é.dl2ie @1 Rs14,400 3 dawm= 20% <irsi Y a1 3 Afe 3curcel oerd 3 15% o1 giis 3iclt 3 al 15% o1 a3t gra @2el & fere
uep &l I a1 orn frap e aRa ol anfde ?

[Question ID = 10884][Question Description = 125_00_GP4_SEP22_S2_Q25]
15,870 [Option ID = 13533]
13,800 [Option ID = 13534]
12,000 [Option ID = 13535]
15,000 [Option ID = 13536]

A WN -

21) In Classical Square of Opposition, if ' All S is P' is given as false, then which of the following could be immediately inferred
from it?

A.'No Sis P'is true

B. 'Some S is not P' is false
C.'Some S is not P' is true

D. 'No S is P' is undetermined
E.'Some S is P' is undetermined

Choose the correct answer from the options given below:

ferRtenl @ o<l aqyfst 3 "l S, P &' @l s1cra #Aroll orRN 3 dl forgsiferl¥ad 3 A dcaplel aRII 3fofdTol CIPTRI SII ADdl 3 ?
"ot S, Podi 3 A 3

‘o S, P ol 3' a1 &

‘oS, Pl a3

o 0 w »

.'@1$ oft S, P o1t &' arforerifea &
E.'®@s S, P & sifforeifya 3
offa o are eyl 3t 1 73t 302 ol :

[Question ID = 10885][Question Description = 126_00_GP4_SEP22_S2_Q26]
1. A, Cand E only
Dact A,C sl E

[Option ID = 13537]
2. C,DandE only
Ddact C, D sl E
[Option ID = 13538]
3. B, Dand E only
Ddact B, D sk E
[Option ID = 13539]
4. A, BandE only
Dact A, B3z E

[Option ID = 13540]

22) Which of the following is a type of Fallacy of Relevance?
forgotferRac 3t A o= AFAGAT B ADBSIY BT Th YbR & ?

[Question ID = 10886][Question Description = 127_00_GP4_SEP22_S2_Q27]
1. The Appeal to Force
qeTrd 31ef @I BB

[Option ID = 13541]
2. The Argument from Ignorance
3116l 3 dD



[Option ID = 13542]
3. Complex Question
Sifeet geot

[Option ID = 13543]

4. Fallacy of Composition
Jercol DT ADBGIY
[Option ID = 13544]

23) a, b, c, d all have the attributes P and Q.

a, b, c all have the attribute R.

Therefore d probably has the attribute R.

Which of the following is true regarding the above argument?
A. It is a deductive argument.

B. It is an inductive argument.

C. It is an analogical argument.

D. It is a valid argument.

E. It is an invalid argument.

Choose the correct answer from the options given below:

a,b,c,dasfidisUIPai Q3
a,b,casfidsuIRE

aret: d 3 Hsraa: a1 R 3isg 3

SWRARD da D e 3 Dol AT DAl AL 3 -
A. 316 U forRIecas ad 3

B. 318 v SIBIAGICHD dd &

C. Iz T ARIAIHCTD ad &

D. u18 uep der aw §

E. 318 v srder aw 3

offa feu 1o freseal 3 2 d Ia= gol :

[Question ID = 10887][Question Description = 128_00_GP4_SEP22_S2_Q28]
1. Band Conly
Dact B sz C

[Option ID = 13545]
2. Aand D only
Dact A siiz D

[Option ID = 13546]
3. Band D only
Dact B siiz D

[Option ID = 13547]
4. BandE only
et B3z E

[Option ID = 13548]
24) Which of the following is/are true regarding the relation between the middle and major terms according to Nyaya
philosophy?
A. It has to be a necessary relation.
B. It can be either necessary or contingent relation.
C. It can be causal relation.
D. It can be species-genus relation.

E. It can be member-class relation.



Choose the correct answer from the options given below:

AR G9ToT-91I) B 3SR HE A1 3T Ucl B i der b ar ¥ fogorferRaa 3 21 ar adr 3 ?
A. 515 siforard Hder &

B. 18 a1 Al 3ra9Ac 3rerdr rdcifaed el 81 ADdI 3

C. I8 DRUICHAD ALl 31 AD 3

D. w1z sufer-dor Jder 81 APpdr 3

E. a1z Agea-asf Adel 31 A 3

offa fou s1e fareeul 3t 2 18t 392 gol :

[Question ID = 10888][Question Description = 129_00_GP4_SEP22_S2_Q29]
. B,DandE only
dact B, D 3siR E

1

[Option ID = 13549]
2. B, C,DandE only
@dact B, C, D3R E

[Option ID = 13550]
3. A, C,DandE only
dact A, C, D3R E

[Option ID = 13551]
4. A, Cand D only
@act A, C iz D

[Option ID = 13552]

25) The argument '‘Anamika must be elsewhere, since she is known to be alive and not to be seen at her house’, is based on
which of the following means of knowledge (Pramana)?

Y8 a5~ "3relfdnT B3l 3R 3, a=Iifes as Shifdd arofl Sl 3 3R sruel R uR o181 S¥dl sl 3' forgaifeiRaa 3 A fep=1 siret (Yermon) uz smenfea 3 ?

[Question ID = 10889][Question Description = 130_00_GP4_SEP22_S2_Q30]
1. Postulation (Arthapatti)
srerfufer

[Option ID = 13553]
2. Non-Cognition (Unupalabdhi)
SioJucifder

[Option ID = 13554]
3. Comparison (Upamana)
Ernic

[Option ID = 13555]
4. Verbal Testimony (Sabda)
oI5G

[Option ID = 13556]

26) Which of the following peripheral devices are considered as only input devices?
A. Headphone

B. Optical Mark Reader (OMR)

C. Graphic Tablet

D. Light Pen

E. Projector

Choose the correct answer from the options given below:

forgaifer¥aa ufselier Suwm=vil 3 A PBlol A Dact soryc FarsA B WU A AR A 8 ?
A. 35wl



B. siiftcarer A $is2 (30 wat 31R)

C. apiftbe Serdie

D. a5 Uet

E. Qisiac:

ofia 3w s1e faracul 3 2 At 3@= ol :

[Question ID = 10890][Question Description = 131_00_GP4_SEP22_S2_Q31]
1. B, Cand D only
Dact B, C iz D

[Option ID = 13557]
2. B, CandE only
Ddact B, C 3k E

[Option ID = 13558]
3. A, BandConly
Dact A, B siiz C

[Option ID = 13559]
4. C,DandE only
Ddact C, D sk E

[Option ID = 13560]

27) You wish to save the changed version of a document that was originally located on a standard CD-ROM. What is the best
method to accomplish this?

3y fepl sraygic @ ufvafelea wu @1 A1 won arsd & Sit Jet WU A Aleld Al S-¥1A A Beaad 331 gra @0l o Adoyes fafr R s ?

[Question ID = 10891][Question Description = 132_00_GP4_SEP22_S2_Q32]
1. Read the document from the CD-ROM, modify the document, then save it to the hard disk
2t <t 3o A STaRygic ug, STaRjgic TR d3 b2 33 8IS f$3D w IRASH o3

[Option ID = 13561]
2. Read the document from the CD-ROM, modify the document, then save it back to the CD-ROM
2R <t 3ot 3 STORpgic UG, STaRpgic FUIART @3 fibe 331 2 St a1 w b2 A IR 3

[Option ID = 13562]
3. Rename the document from the CD-ROM, read and modify the document, then save it to the hard drive
i St 31 3 STRYFIc DI Yololld B2, SIRIFIC DI U 3R FUIART @3 b2 3 a8 B3 W RS o3

[Option ID = 13563]
4. Copy the document from the CD-ROM to the hard drive, read the document, modify it, and save it back to the CD-ROM
sTaRygic Pt 2t St o1 A 81 3o 3 yferferit Joiri, sTaRpic ud, S Fuidfied o3 3l A b2 A 20 St a1 w2 FPAdra o3

[Option ID = 13564]

28) Given below are two statements

Statement I: 'Spam’ is an attempt to acquire sensitive information for malicious reasons, by masquerading as a trustworthy
entity.

Statement II: 'Phishing’ is a type of unsolicited bulk email of identical messages sent to numerous recipents.

In light of the above statements, choose the correct answer from the options given below

oI S peret feu sTu 3 :

@weret - | 1 ' Rreaoliz AAca o1 A9 Tolrp2 geifaciguf Uil A Jdcorefier Jeacll Y Bt BT U JRIRT 3
werol - |l 1 'fRieT 3rizsr yraaalsii ot 1St s1e 3Rnfrd v Sl Aol &1 &2 A $3ieT b1 YR 3

Sufe werell & Jrcie 3 BreoRiRad Ricscdl 3 3 31 3a2 gt :

[Question ID = 10892][Question Description = 133_00_GP4_SEP22_S2_Q33]

1. Both Statement | and Statement Il are true
Dot | 3R || greil 3 &

[Option ID = 13565]
2. Both Statement | and Statement Il are false
Dol | 3R || Slell 3RIT &



[Option ID = 13566]
3. Statement | is true but Statement Il is false
el | A 8, fpog wee | srica 8

[Option ID = 13567]
4. Statement | is false but Statement Il is true
el | 3RIRI 3 , fopoqg el |l 31 8

[Option ID = 13568]

29) Regarding wearable technology, which of the following tasks is/are accomplished by wearable devices?
A. Providing more security compared to other computing devices

B. Sharing of a wearable device's Internet connection with other connected computers

C. Assisting hearing impaired persons

Choose the correct answer from the options given below:

Ugolol Ao ddoild @ e I forgaifciRaa 3 21 dlol 3 DRI UssTol AT UMW GRI AUIfed sld & ?
A. 31631 BFR]fES1 Ul b1 detoll 3 31fId A8 YgIel dell

B. ugolol A1 3UDWIT B FcIolc Dold9lol DI 363 Helg DY D AT AT DIoll

C. oravmEifera =ifeb 5t siGg doll

offa fou s1e freeul 3f 2 A1) 392 9ol :

[Question ID = 10893][Question Description = 134_00_GP4_SEP22_S2_Q34]
1. Aand B only
@dact A 3iiz B

[Option ID = 13569]
2. Bonly
dacet B

[Option ID = 13570]
3. Band Conly
@act B sie C

[Option ID = 13571]
4. Conly
@dact C

[Option ID = 13572]

30) A software company requires ' GB RAM minimum and 2 GB RAM recommended' for its new Operating System (OS)
software. The likely outcome of attempting to install this OS on a computer with 1 GB RAM would be that

T ATFCRR DUl DI 31Tl oRI ifufest Reea (31l v21) Hivedzr @ fére "1 Sht o Ya1 oyoraa siiz 2 it o 331 sopeif¥ta’ ot smagaar & 1 5t & Yot arat
DIRICI UR 3 3l TA DI 33<Icl Dol D YARI D1 AN uf¥ored s aren e

[Question ID = 10894][Question Description = 135_00_GP4_SEP22_S2_Q35]
1. files will fail to save
wIscl JPRASA Blol 31 fwet al SRBl

[Option ID = 13573]
2. peripheral devices will fail to work
uf¥efter uasaur wrf w2l g6 w2 BT

[Option ID = 13574]
3. the OS will fail to install and therefore the computer will not run
3l B3, $3<het dlol A fawet 3 sl 3IR 331 A BFRIc DRI ofdl DI

[Option ID = 13575]
4. the computer will not run at its optimum performance
DRIC? 3ol Stcidl DPRISHIAL A DRI oIdl Dol

[Option ID = 13576]

31) Lifecycle assessment of a product is done keeping in mind mainly



fop=il Srurc & Silael T, BT D cIel FITRI: A ATl 3 W D= fepar S 3 :

[Question ID = 10895][Question Description = 136_00_GP4_SEP22_S2_Q36]
1. Manufacturing

faforafor (Aodaafis)

[Option ID = 13577]
2. Packaging

Tadfdier

[Option ID = 13578]
3. Disposal

forzarur (f33urster)

[Option ID = 13579]
4. Distribution

fererzor

[Option ID = 13580]

32) Stable atmospheric conditions help in

f¥rers arggisciln ufzf¥-erferit fepadl Jsr® 3 ?

[Question ID = 10896][Question Description = 137_00_GP4_SEP22_S2_Q37]
1. Accumulation of the air pollutants
AR] YGUDI D AcRI6l 3
[Option ID = 13581]
2. Dispersion of the air pollutants
AR] YguD! D farster I
[Option ID = 13582]
3. Dispersion of the water pollutants
SieT Ygub! @ farstor 3
[Option ID = 13583]
4. Neutralisation of air pollutants
AR] YGUDI D foreysirdet ot
[Option ID = 13584]

33) The contribution of energy efficiency enhancement measures could be significant in the realisation of the following
Sustainable Development Goals (SDGs):

Feil gerar fgly Suril o1 AeIca fowsferRaa Jdad famrT aeil (v $1 oft) &1 gifit 3 ascagyt 81 awar 3

[Question ID = 10897][Question Description = 138_00_GP4_SEP22_S2_Q38]
1. SDGs 7, 11, 12, 13
xSt 7, 11,12, 13

[Option ID = 13585]
2. SDGs 7, 11, 12, 14, 15
vadst 7, 11, 12, 14, 15

[Option ID = 13586]
3. SDGs 5, 7, 11, 13, 17
cadst 5, 7, 11, 13, 17

[Option ID = 13587]
4. SDGs 5, 12, 14, 17
wastsht 5, 12, 14, 17

[Option ID = 13588]

34) Which of the following pairs of countries conceived the idea of the International Solar Alliance?

Soll @ forotferRRad Joar 3 A Rpol 3idR A AH1? 3164 el @ faar o1 uf¥mcuen o1 off ?

[Question ID = 10898][Question Description = 139_00_GP4_SEP22_S2_Q39]
1. India and USA
A1 312 A ©

[Option ID = 13589]



2. India and Australia

9T 31 SIRCfeRI

[Option ID = 13590]
3. India and France
9T 3R Wi

[Option ID = 13591]

4. India and China
91 3IR <ot

[Option ID = 13592]

35) Solar Water Still is a device used to

32 sicr RBec forgol 3 Gp a1 3 ©

[Question ID = 10899][Question Description = 140_00_GP4_SEP22_S2_Q40]
1. Desalinate ocean water
PR Siel fderauitasur 3

[Option ID = 13593]
2. Heat the water
SieT 1 o1t @al 3

[Option ID = 13594]
3. Remove microbes from water
Siet 3 Sfiary serol 3

[Option ID = 13595]
4. Streamline the flowing water
&l Sl Pl JYyaret doirol I

[Option ID = 13596]

36) The white paper on Indian Education was announced a few days before the passing of the Indian Universities Act in
HRdRI 131811 U? 2ad uq &1 aluvn ARl faeafdencrn siféforaa @ urf¥da glol A @ St gd fepaa adf 3 o1 a1 off ?

[Question ID = 10900][Question Description = 141_00_GP4_SEP22_S2_Q41]
1904 [Option ID = 13597]
1914 [Option ID = 13598]
1924 [Option ID = 13599]
1944 [Option ID = 13600]

A wWw N =

37) Who among the following is accredited with the view that 'knowledge without character' is a sin?
forgotferRac 3t A foprol 33 forae &Y yenfia e 3 b "af¥q & frerr sirer ua 3' ?

[Question ID = 10901][Question Description = 142_00_GP4_SEP22_S2_Q42]
1. Plato
wIet

[Option ID = 13601]
2. Jawaharlal Nehru
SIA182 ¢lie] o183
[Option ID = 13602]
3. Sarvapalli Radhakrishnan
JAducedl JEnpIer
[Option ID = 13603]
4. Mahatma Gandhi
FHaIcA alielt

[Option ID = 13604]

38) The acronym 'NHEQF"' is for
‘ool va $ @3y uw' ufravff ez e 3 ?

[Question ID = 10902][Question Description = 143_00_GP4_SEP22_S2_Q43]
1. National Higher Education Quality Framework
SlgloTcT BRIX UJd9lol aaferdt warad

[Option ID = 13605]
2. National Higher Education Qualification Framework



SI9IoICT BRI USJd9lel JaTfeIftbadorel W Tad

[Option ID = 13606]
3. National Higher Education Quantitative Framework
Sl9lelel BRI Bjdolel adifecfea B aradm
[Option ID = 13607]
4. National Higher Education Quality Forum
Sl9IGIc 8RR Ud9lel ddIfeict Biva

[Option ID = 13608]

39) Identify the institution of National Importance among the following:

forgotferlRae 31 A1 ASERI HsTa D A2ATol DI USIGl B3 -

[Question ID = 10903][Question Description = 144_00_GP4_SEP22_S2_Q44]
1. Banaras Hindu University

ol [Bog, feafdermerr

[Option ID = 13609]
2. Aligarh Muslim University

3rctiore ff¥cwr f[eafdemer

[Option ID = 13610]
3. Jawaharlal Nehru University
SIA162 clicl ol faeafencrr

[Option ID = 13611]
4. Rashtriya Raksha University, Gandhinagar
Il Jeir feaferncrr, siift oo

[Option ID = 13612]

40) Ancient literary work such as Banabhatta's Kadambari described good education as knowledge of how many arts (Kalaas)?

Yretiiol A3 e 36 Sl b arvnsiz o1 dIcast 3 fbdoil werisii @ Sitel @) 3l 18 & U 3 AR RN & ?

[Question ID = 10904][Question Description = 145_00_GP4_SEP22_S2_Q45]
16 [Option ID = 13613]
25 [Option ID = 13614]
32 [Option ID = 13615]
64 [Option ID = 13616]

AW N =

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartC

1)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description ‘tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.



forgsifeiRae srerior ool ug siiz AT gesil @ Iaz e :

AYTD A of slcl D aul 3 Uil I ) §t & $ADI UD IGIEWI AYTh ACE, D HBRIFIA J[CIA D DRIGH dRIRA DI Acbol Hdel A D UBLE

@ yfer fara AHSRT BT 53T 39 & Joslol PRIGH arRRA A foracar Bl BrRI-Alsioln 3 rcafias sReeadic caftpil &l sge & forg fora a3GrR 21 10
faferIer sTeR &l MU 3iofipR Astolt i APIGIol Bl &t srdicr &t off, Afdbot s ciga B dact uwp-dlens B3 & yferagarnd & gl & uré

2 YD weg D uep ofief SIfRBRl A clladicd Bl Dol 3- A8 Yferfep 'sreid sreu’ & wdl oIt Al & 75 ad usel IRYep ausg A 50 o1 3IcxA
A frordhl e 3@ a6 @2 193 31 gebl 3 3iR 32131 fara 9 B 44,000 wafarst orRf @t & 53 g ool 6l FeUelT Uas VAT Fl YoTol Dol
@D feru &6l o1$ off, Bdt a3 3z 81 91l @I fararT o fs  srucit mefes sirarst 301 urdst Afdbol, $3 IUSIGOT DI T GIidl I fOIDRI- HERIHT BY
95 3l DA ar<dfd® Iftb Yglel Bl &, 3iI= 3Mfrmior orftp fodiR f[ira g @ Kerar asgi- [{§ea1, <o, \i=d, 39T 3R YD A et A
gA® @l 15 Acxia Jren ufvag 3 Feril A6l & wu d A D PRI6T & AfPR-FaSU Yol Bl 3 BIS off Fearfl A oiftp-aon 3
uf¥ader @& yfer scge yddla ol alar 3 Jeen uldue & urt e yferaser ool ot IffreR 3 3k A6 va A foror 3, KRl 3ifore ad dera
@0l Pl srefafer g 3 ufbvret Aus 3 o e uf¥es 3 sl eI UR oo AWRI A SIeRle Sl 3, RR1E grI: s@if¥®! A, of dad ol wd 31 &6,
afe A ASABRI D AT 91 cpaa b Reerfer Scucet Bt 3 A6 of Dae g 3R JorRET & FIcl D TR # 3, stal AP asg, ufvmEAl & fore
Jiad @2 1 & foreforan, ¢ifdes ugturd 3iiz forgrRar &t srTaoIansii @ 2030 ad Iodctel @ fore AYTd Acsg D 17 Adad faerT ag off 2aad # &
YD AT, DI PR DI dIcll TP oYl AT D GRAR TP AYTh AT, folPRIell Ag-aciieel Uiferil WiRA A g b [A9usT of Uscl Uap Adciol
3 @8l oI fob AR A uscl 8l c1gd "snile WU A U A IAR JW” A IHYTh AT D IHoHdl SIGIPR HloId 3 b HYTP AT AR DI TD IER-
forrar sgueiiRrarar s Arfl RBrer-S[er @2 AHTAT B FATEST BT s A1z B 3ol Rigidl A evara 3iar 8, Rrorl s Fegar iR 391 & sriafds
FEIcH 3 3ETFAS UR SR foR SR 3

The response for the UN appeal for contribution to fight the corona pandemic reflects its

PRIC HEINL A Had @ e APIcrel Bl &l Igep e, &I ardier Adeh yferfepen o= yferfeifera ot 3 :

[Question ID = 10905][Question Description = 146_00_GP4_SEP22_S2_Q46]
1. Positive image

JADRID B

[Option ID = 13617]
2. Global reach

dffq uga

[Option ID = 13618]
3. Waning influence

Tedr gorra

[Option ID = 13619]
4. Neutrality

daczeAdr

[Option ID = 13620]

2)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging



to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.

forgotferRae sterior o ud siiz AFERIA Yosil B Iar i :

YD ASE ol BIcT D adl A UGl ITHT Al $F & SHDI GD IGIBAT AYTD AT D HSRIRIA 3[¢3A D DRI dRIRA DI Adol Adeh Age D BB

@ gfer fra AAGRI DI 531 373 & Ioslol PRIG aRRA A forucol bl PRI-Alston 3 P SReadic =aftpdl &l e & fere fara 3grR A 10
faferrer sTeR &t smurd sieyfipan Aston # AMeTcTer W0t &t srdier &t off, cifdper s g & Baer va-diens A 6 yferagam & gt ar urd

3 I weg, D uep ofie 3if2reprdt TS cllawmics oI Bl - As Yfeifdpan ‘sria e’ 8 wdl o Adcdt 3 75 ad uscl Hgep g 3 50 91 A
¥ fRrorehl e 3@ a6 B2 193 31 gobl 3 3iR 333l fara eR & 44,000 wafardt orl w2 & 331 g FsIoel &l Feruei Ue VAT 3 Ygrol Bl
@ fere i o1 off, BRIl a3 3iik 81 J9ii T farart on 6 A smachl el sirarst 36T Urds! Afdbel, $3 PTG DI ¢l GIdl IR fOIDPRI-HARIT BY
5 8l ®d ar«dla® IRP Yglel &l 3, 3ii? sifermior oiftp &l fava g @ oI reci- [{eot, <o, w1, % 3R AYeD I rlor A
gA® @I 15 AR Jren uftys 3 Faril Ac=l & U 3 A D GRIBT D ARPR-FABU Yelel Bl 8 DIS ol FARM A 91kp-Izaon i
uf¥ader @ gfer scgd Yedla ol alar 3 JRe ufeus @ ura i Yferaser cemel @I PR 3 3R A6 b A fofdr 3, Rl Jifore & dotra
o1 Y srggdfer yra 3 ufvmar ws 2 o5 e ufdug 3 sl Pl UR a3 d FERT A SIfcRIE S 8, R YR s1aif¥et A, of dad el wd A &,
afed D ASANBPRIL @ A1 31t capera &I Rrefer 3cusot Bl 3 A8 of Dact g MR YgRIA D IRIcl D ar 3 3, Siel Ay Usg, ufeviEdl D fere
Jad @2 1 3 foreforar, difdres ugtura iz forgrar &t srRweIait & 2030 Ad Iodgclel @ o1 AP weg B 17 Jaa ARt ag off TR 3 &
YD S, DI BaAR P! Alell TDH ST ATST D IURIR TP AYh AuSe, PRI Aag-sciiace diferil BrRa A ey v ISt of Uscl Ud FFACeT
3 a1 a1 fob FBEId A usd 3 cgAa "oz WU A ucdH A IAR ST A AP WS D 3ol SIGIDR HIGIA 3 [ YD AT AR DI TP LR~
forp1 sgugiR@amEarc Al [FeT-Je1 B2 AN D AL DI 5l AR D Iol Rigidl A cpia Bl 3, rordl ASERT AFYYAT iR $9I D Ificflead
A 3 ETALU Uz SR fSm s 3

What obstructs the United Nations from becoming a real global body?

YD A, D TP dRAIDP dffam fOrPRI Jotol 3 TRl aren 3 ?

[Question ID = 10906][Question Description = 147_00_GP4_SEP22_S2_Q47]
1. The power of Security Council to deploy military force

JRe uldg bl Iowr et Dt dorredt bF orfep

[Option ID = 13621]
2. Its limited power to impose economic sanctions

32t anffep yferder errol bt 2fifdie oifep

[Option ID = 13622]
3. Considerable expansion as a huge organisation

farorret JieIGel @ U I DId! fFar

[Option ID = 13623]
4. The veto power of the permanent members of the Security Council

3IRe uldve @ Frf AR @1 dicl-siffor
[Option ID = 13624]

3)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,



often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.

forgsifeiRae srerior ol ug siiz AT gesil @ Iaz e :

AYTD A of sl D aull 3 Uil I ) §t & $ADI UD IGIEWI AYTh ACE, D HBRIFIA JCIA D DRI dRIA DI Acbol AHdel A D B

@ gfer fora AISRI b1 53T 3 & Ioslol PRI dRRA A forucol bl BRI-Alsion 3 il sRexadic caftpl &l dce & fere fora IR A 10
faferror s1eR 6t smurd siolfpAT AsTolr 3 APITol w2t bt srcdier 6t oft, Afdpor s ciga @ dact wp-diens 3 bt yferagam 3 gt ar uré

2 YD weg, D uep ofief SIfBrl A clladics Bl Baoll 3- As Yferfep "sreid sreu’ & dl oIt Al & 75 ad usel IRep asg A 50 o1 IcxA
A frordhl e 3@ a6 @2 193 31 gebl 3 3ik 32131 fara 9 B 44,000 wafarst orRf o & 53 g 1ol 6l FeTUell Uas VAT Fl YoIol Dol
@D feru &bl a1$ off, BrR1dl a3 3z 81 391l @t fararT o s  srucil mefes sirarst 301 urds! Afdbol, $3 IUSIGOT DI eI Gl TN fOIDRI- HERIHT DY
95 8 DA aRAfde Ifth Ygelel Bl 3, 31IR MerDmion 91ftp fGdlRn faa Jg o fasrar Ausl- o, iol, \iRa, 3 3R JAYTD ASA 3EIfeDr d
gA® @l 15 Jcxia Jren ufvag 3 Feril A6l & wu d A & PRIsT & AfPR-FaSU Yol Bl 3 D15 off Fearfl A oifkp-don 3
uf¥ader @& yfer scga yddia ol alar 3 Jgeen uldue @ urt snf¥fe yferaser ool o IffreR 3 3k a6 va A foror 3, KR 3ifore ad derra
@l Dl sretafer gra 3 ufbvret s 3 e e uf¥es 3 soie eI UR oo AWRI A IRl Sl 3, RR1E grI: @if¥®! A, of dad ol wd 31 &6,
afe 3D ASABRIT D A1 91t cpaa &t Reefer Icucet Bt 3 A6 of Daet g MR JorRET & FIcl D TR & 3, stal AP asg, ufvmEAl & fore
Jdad o2 1 & foreforar, cifSie usturd 3iiz forgrar &t srEmeARi & 2030 as Sedcle & e A aeg D 17 Jad Rt oe off TR d &
YD AT, DI PR D] dIcll TP oYl AT D GRAR TP AP AT, folPRIell Adg-aciidel Uiferil BRA A g U [yt of Uscl Uap HAdciol
3 sl o1 fob HBIART A uscl 8l a1 "Il WU A U A IAR W A IHYTP AT D IoHdl SIGIPR HIGI 3 [ HYTD AT, AR DI TP IER-
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Jrctl 3 TSy UR Sk 3 s 3

The Security Council deadlocks are due to

Jqzel uldye 3 sIfeRIel @I PRI 3 :
[Question ID = 10907][Question Description = 148_00_GP4_SEP22_S2_Q48]
1. Lack of reforms in the UN power structure
YD A, Dl AP D Il I JPURT DI 3T
[Option ID = 13625]
2. Internal differences among member nations
AGHI-Soll D dfa stiale aAqadc

[Option ID = 13626]
3. The US stance against all others

219ft 3o B Raemw @b 3

[Option ID = 13627]
4. Global conflicts involving US, Russia and China

YD ASA NI, A wd dior A AdiferT Affaas et
[Option ID = 13628]

4)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,



Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.

forgotferRae sterior o ud sii AFERIA Yosil B Iar i :
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The outcome of power conflicts inside the UN is

IR Acg, A 9Itp-IEd ®1 ufyona 3 ¢
[Question ID = 10908][Question Description = 149_00_GP4_SEP22_S2_Q49]
1. Slow termination of wars

gl 1 effaft arfer 3 o Stomr

[Option ID = 13629]
2. Tepid response to SDGs

3K fAprRI cigll D yfer effoft gferfapen

[Option ID = 13630]
3. No positive contribution for human welfare

HIold BRIV D foT8 DS ADPRIHD ABIGTol olal

[Option ID = 13631]
4. Delayed aid to pandemic affected countries

HBARL A Y Soll Dl &2 A ABRIA
[Option ID = 13632]

5)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description ‘tepid’, said Mark Lowcock, the top UN relief official. The United Nations,



which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.

forgsifciRae srerior oI ug iz A€l gesil @ Iaz difSe :
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The UN's ambiguous stance on many global issues is because of
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1. Financial constraints
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2. Rigid tenets in the UN charter
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3. Multilateralism vs National Sovereignty
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4. Its seamless expansion
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